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////Track
Int t locBeamID
Int t locPiPlu
Int t locPiMin
Int t locProto
// Get P4's: /
//dTargetP4 is
//Step ©
TLorentzVector
TLorentzVector
TLorentzVector
TLorentzVector
TLorentzVector
// Get Measure
//Step O
TLorentzVector
TLorentzVector
TLorentzVector
TLorentzVector

// Combine 4-v
TLorentzVector

locMissingP4 Measured

//Kinfit
TLorentzVector
locMissingP4

[//////Fil1 Hi
dHist pMinus->

= dComboBeamWrapper-=> ();
sTrackID = dPiPlusWrapper-> ();
usTrackID = dPiMinusWrapper-=> ();
nTrackID = dProtonWrapper-> ();

/is kinfit if kinfit performed, else is measured
target p4

locBeamP4 = dComboBeamWrapper-> ();

locPiPlusP4 = dPiPlusWrapper-> ();

locPiMinusP4 = dPiMinusWrapper-> (D :

locProtonP4 = dProtonWrapper-=> ();
locMissingNeutronP4 = dMissingNeutronWrapper-> ();
d P4's:

locBeamP4 Measured = dComboBeamWrapper-=> (

locPiPlusP4 Measured = dPiPlusWrapper-> ();

locPiMinusP4 Measured = dPiMinusWrapper->

locProtonP4 Measured = dProtonWrapper-> ();

ectors
locMissingP4 Measured = locBeamP4 Measured + dTargetP4;

locMissingP4 = locBeamP4 + dTargetP4;

-= locPiPlusP4 + locPiMinusP4 + locProtonP4;

stogram
((locMissingP4 Measured.E() - locMissingP4 Measured.

-= locPiPlusP4 Measured + locPiMinusP4 Measured + locProtonP4 Measured;

()),locAccWeight);//where locAccweight is accidental subtrac







	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6

